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O BEVICEHRUIC LED DB =l (B8 < LIZDIE LIZV) LigEl,

JO735 A
Hdefine LED 9

int i=0;
void setup() {
pinMode( LED, OUTPUT );

}

void loop() {
analogWrite( LED, O );
delay (500);

for(i=0; K255; i++) {
analogWrite( LED, i);
delay(30);

}

for(i=255; »O; i) {
analogWrite( LED, i);

delay(30);
}
0 /
OV FEEER
B8 51 # RDE
void analogWrite( pin, value ) | pnEY&S | 2L FrogeHnPwWM)
value:0~255
int analogWrite( pin, value )
S1E pin: pin S
value: 0O~255
ROBE 73U
5l
Hdefine LED 10 //LED [& 10 BE VIC 1%

analogWrite( 10,51 );  //10&FZBEYNHNSPFOTENT B,

10 BLEVIC 51 H AVIPWM EH
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/* */
/* =M\ F)VIEYE void handle( int angle ) */
/* 51 B U—NRIEBE 1 -90~90 */
/* 90 TAN QO E. O TE2I <., 90 TEN 90 E[OEx */
/* */
/* */
/* REFIE void speed( int accele_l, int accele_r ) */
/x5 8 AE—H-100~100, GE—5:-100~100 */
/* O TiElE, 100 TIE#: 100%. -100 T:&¥éEr 100% */
/* */

// mer E=F RS TJM—RK Vol.3 #lEt>TIL
Hinclude <Servo.h>

/* VoI3 Ih— FER */

Hdefine LEDO 12 /*xLEDO PB7 x/

Hdefine LED1 11 /*xLED1 PB6 */
/* =i PB5 */

Hdefine R_motor_pwm 6 /x BE—5 PWM PB4 */

Hdefine R_motor_disision 7 /x BE—SOEFHE PB3 x/
Hdefine L_motor_disision 4 /x £E—SO#EHE PB2 */
Hdefine L_motor_pwm 5 /x Z€—%5 PWM PB1 */
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Hdefine SW 10 /x JwyaZaq4wvF PBO*/
Servo myservo,

int pos = 0;

void setup() {
myservo.attach( 3 );

pinMode ( LEDO, OUTPUT ),
pinMode( LED1, OUTPUT ),
pinMode(SW , INPUT );

pinMode ( L_motor_disision, OUTPUT );
pinMode ( R_motor_disision, OUTPUT ).
pinMode( L_motor_pwm, OUTPUT ),
pinMode ( R_motor_pwm, OUTPUT );

/* */
/* T—R/\> B)VIRE */
/x 3] B Y—REEBE 1 -90~90 */
/* 90 TEN QO E, O TE2I <, 90 TEA 90 EEr */
/* */

void handle( int angle )

{

myservo.write( angle );

/* */
/* SREHIE */
/* 5l 8 LE—-H-100~100, GE—4-100~100 */
/* O TiZ1E. 100 TIiE#: 100%. -100 T:¥#r 100% */
/* */

void speed( int accele_l, int accele_r )
{
Nt i;
/* EE—H */
if(accele_1>=0) {
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digitalWrite( L_motor_disision, LOW );
i = accele_] *x 2.55;

analogWrite( L_motor_pwm , i );

} else {
digitalWrite( L_motor_disision, HIGH );
accele_l = —accele_];

i = accele_] *x 2.55;

analogWrite( L_motor_pwm , i );

/x BE—H */

if( accele_r >=0) {
digitalWrite ( R_motor_disision, LOW );
i = accele_r x 2.55;
analogWrite( R_motor_pwm , i),

} else {
digitalWrite ( R_motor_disision, HIGH );
accele_r = -accele_r;
i = accele_r x 2.55;

analogWrite( R_motor_pwm , i );

void loop() {
handle(O); /* U—hZa1—hr3 */
while( digitalRead(SW)==1 ) { /* 25— SW ADFH */
/* DR TIIRIMEELY */
digitalWrite( LEDO, HIGH ),
digitalWrite( LED1, LOW ).
delay (500);

digitalWrite( LEDO, LOW );
digitalWrite( LED1, HIGH );
delay (500):
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while(1) { /* €E—=S BT~ */
speed( 100, 100); /* 1 WERHE(100%) */
delay(1000);
speed( 0, 0): /x 1 MRS */
delay(1000);

speed(-100, 100 ); /* 1 WEEE(100%) */
delay(1000);

speed( 0, 0); /x 1 WEIELE */
delay(1000);

speed( 100, -100 ): /* 1 MEGH(100%) */
delay(1000);

speed( 0, 0); /x 1 WEIELE */
delay(1000);

speed( 100, -100 ): /* 1 MEZLHT(100%) */
delay(1000);

speed( 0, 0); /x 1 WEIRLE */
delay(1000);

speed(50,50);  /* 1 WEFNEBO%) */
delay(1000);

speed( 0, O); /* 1 WEIELE */
delay(1000);

speed(-50, -50); /* 1 WEEEBO0%) */
delay(1000);

speed( 0, O); /* 1 WEIELE */
delay(1000);

while(1){}



